Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102 Date: 03-6-2016
Subject Name: Electronic Networks
Time: 10.30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

g~ W

Question Text and Option. Yl sl ([Ascdl.
Which of the following is not a passive element

A Resistor B.  Voltage source
C. Inductor D. Capacitor
(LAYl s WRA AR o1l

. WikeR o, dleex AR
5. Ho5 522 s.  ¥AReR
Which of the following is a unilateral element

A. Resistor B. Inductor

C. Silicon diode D. None of these
o(lAtuill s YollAzet AR B,

. ke o, o552

5.  R@Ast stals s. Yl 88 uel «18l
Two capacitors 4 pF and 6 pF are connected in parallel then total capacitance is
A 2yuF B. 1/10pF

C. 12/5 pF D. 10pF

A 30AleR 4 puF Aal 6 pFal AHIAR Ascl &t U2
L 2 UF ol 1/10 pF

g 12/5 pF s lopF

Ideal voltage source has internal resistance of

A. 0Q B. 10Q

C. 1Q D. o)
UBBUA ARy ARl Soeold 202t

w  0Q o 100

“Any linear bilateral network having energy sources and resistances can be replaced by equivalent
circuit consisting of voltage source in series with an equivalent resistance.” Is a statement of which
theorem?

A. Thevenin’s theorem B.  Maximum power transfer theorem

C. None of these D. Norton’s theorem
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10.

0.

11.

Aot ARU ol 0fleot wRlddl 818 uel @Qclar ds@ed azasa Al ssclacdes
Aeasdl wedl asa Bl As Al A e Rl ssfldcez W2 Slat- 4l
56 (AAUe] 2N B?

wu. Adollot (AN ol ABRAHH AR 252 (AAM

5. v S8 ual o8l s. ol AN

When the image impedances of port 1-1” and port 2-2° are equal to each other then image impedance
is called

A. Characteristics impedance B.  Transfer impedance

C. Driving point impedance D. Iterative impedance

AR WlE 1-1" el W 2-27 oll &A% S1lsor AL Slal R A% B1rdlsotal 9 sdaua?
wu, Hsedls srdlseu ol 2ledsR srdlse

5. stedlol Weee s1dlset s.  ge2dla s1rdlsent

The point at which two or more elements meet is called

A. Branch B. Node

C. Loop D. Mesh

@ (e A 3 AUl aurR AdN2U HA Al 9 sdalau?

. o™ o. oS

5. U S, AY

Star to delta and delta to star conversion is used to simplify circuit elements connected in
A. Series B. Parallel

C. Series-parallel D.  None of these

RAR 2 3eal Ual 32l g IR Sl 58 A HslAc usle ANzl Rrcllslal sa
AURA 8©7?
wu, AR o. Wdd

5.  dRlx»-WdA s AHE 88 uel o8l

If electrical properties are changed when input and output terminals are interchanged the network is
called

A Symmetrical network B.  Output network

C. Input network D. Asymmetrical network

% azcboll Batye Wal B2y 2Holdal 8o2ABY 5cll Aoll sAsEsct WUl ecla
Aol 58 aead sdalAu?

(. RAZsc Aeas o, UGBaY2 aeak

5. ®aye aeds 5. ARALsA aeas

Relationship between characteristics impedance of symmetrical T and = network is
A.  (Zomn)*(ZoT)=21Z2 B. (Zom)*(ZoT)=22/Z1

C. (Zom )*( ZoT )=21/22 D. None of these

RALsA T A 1 Aecfoll 3seils srdlsed a9 dolu ©?

w.  (Zom)*(ZoT)=2122 o (Zom)*(ZoT)=z2/Z1

5.  (Zom)*(ZoT)=21/z2 s. il 88 uel odl

In a two port network, input current is 10 A and input voltage is 20 V. Output current is 4 A and
output voltage is 20V. Input impedance is

A. 2Q B. 10Q

C. 5Q D. 25Q
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9.

12.

1 .

13.

3.

14.

Y.

15.

Q.

16.

6.

17.

A W deasul 8alye $e2 10 A ol Balye iR 20 V 8. wlBaYe s 4 A 3l 8alye

iR 20 V 8. dl otye srdlsed 9 au?
w20 o 100

5 50 s 250

“Maximum power will be transferred from source to load if load impedance is complex conjugate of
source impedance.” Is a statement of which theorem

A. Norton’s theorem B.  Maximum power transfer theorem

C. Reciprocity theorem D. Thevenin’s theorem

“ol AS SrUlsed WA Srdlsouoll sLAAsU %2 dlatl Al WAHE ASHI AERAHH WaR
2loU$R AU~ Al 58 (AAMe] ReNee B?

wu. oleled @AM ol ABRAHH UAR 252 (AAM
5. RAU{E @au s.  Adellat @AM

Dual of Capacitance is

A Inductance B. Resistance

C. Capacitance D. None of these

$UAleoto] sYUA 9 B?

U, BoS5ee o, WU

5. 3Ulesu s. A 88 uel o8l

The mesh analysis technique is useful when a circuit containing more number of
A. Current sources B.  Voltage sources

C. Dependent sources D. None of these

Usleul sal ysetl AR auR sla R A Asticdlaflaell GuAdL aa 8?
AU, s AR o dew AR

5. [30sce ARK s. il sl uel «18l

What is used in node analysis?

A. KVL B. KCL

C. KPL D. None of these

alls Well(QARUHL Aoll GUADL Al BD?

a  KVL o KCL

s, KPL s, aiel Sy uel (8l

If source impedance is Zs=Rs+jXs and load impedance ZL=RL+JXL Maximum power transfer takes
place when

A. Rs=RL and Xs=XL B. Rs=RL and Xs=(-XL)

C. Rs=(-RL )and Xs=XL D. None of these

ol WA Frllsed Zs=Rs+jXs WA AS SrUlsed ZL=RL+IXL st A WMl AsHl

AERAHH ULCR SRUR 2lodsR aUlRL?

».  Rs=RLand Xs=XL o Rs=RLand Xs=(-XL)

5.  Rs=(-RL)and Xs=XL s. il a8 uel odl

Thevenin’s equivalent circuit consists of

A Voltage source and equivalent B.  Voltage source and equivalent parallel resistance
series resistance

C. current source and equivalent D. current source and equivalent parallel resistance
series resistance
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9.

18.

.

19.

c.

20.

R0.

21.

1.

22.

2.

23.

Aol sscllactoe usl2Hl 9f sl B?

AU, ARy A U gsfladdee o, Ay A ua gsfldcdee et Wlluea
AR 0fleat

5. 52 ARL Wl ss<lacde 5. 5o AR Aal gsladee WAA vt
AR 20fleat

Which theorem is used when a linear bilateral network is using two or more number of energy
sources?

A Reciprocity theorem B.  Norton’s theorem

C. Superposition theorem D. Thevenin’s theorem

AR ([Ao{laR olla@eE AeasHl A sl cull? Aol AR lal Al 58 (A1 GulaL
ALA?

AU, RAIRE @AK o, ol @AM

5. Juuloflatet @AM 5. 2dellel AN

The algebraic sum of current meeting at a junction is zero —it is a statement of

A. KCL B. ALL

C. KPL D. KVL

o59lal UR QWL Ucll 020l NABULS AL 2o Ul B-ul Slof RN B?
a  KCL o ALL

s KPL s KvL

If two 4 Q resistances connected in series are connected across 8Volt DC Supply then voltage across
each resistance is

A 1Volt B. 2Volt

C. 4\olt D. None of these

Bl A RIABUL ASRAA 4 Q 2ecal 8Volt SR Actal WA SscllHl A Al €38
RoRecoll WS UHL Fecll lesSiu alA?

AU, 1de o. 2de

5. 4 de@ s, wiEll 818 ual o8l
Dual of resistance is

A. Inductance B.  None of these

C. capacitance D. conductance

o2 oRe] SYUA 9 B?

W, BeSs2a ol vl 818 ual «8l
5. sUles 5. SoSseod

The two Laws which form basis of circuit analysis were stated by

A. Kirchoff B. Faraday

C. ohm D. None of these

B o [0 Usle AettlAllatell Wl B A Slotl gl e2lcuaul ®?
wu, (5Uls ol. %9

5. wal s. w818 ual o8l
Dual of node analysis is

A. Mesh B.  Mesh analysis

C. Node D. KCL

alls Aotl@AUo] sYMe 9 B?
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3.

24.

Y.

25.

QY.

26.

R6S.

27.

Y.

28.

RC.

29.

W, A ol AU AellA{ln

5. als s.  KCL

Y IR+ E.M.F.=0 equation represent

A. KVL B. KCL

C. OHM’S law D. None of these

YIR+YE.M.F.=0 31520l 9] tcld 8?

w  KVL o KCL

5. Aletell R s, wiedl sl el «tel

Norton’s equivalent circuit consists of

A. Voltage source and equivalent B.  Voltage source and equivalent parallel resistance
series resistance

C. current source and equivalent D. current source and equivalent parallel resistance

series resistance
el 8sclldcoe Usl2ul 9 sl B?

., ARy A A ssclldcte o, ARy A WA 85cfldcted WHA 12t

A% 208leau

5. 502 A UA vscldctoe S.  $ee A e 8sfldcdee WAHA W12
A3y 208leaut

Dual of current is

A. Impedance B.  Resistance

C. Voltage D.  None of these

§R020] SYUA 9 O?

. FoSsee o, e

5. ARY s. vl 818 ual o8l

if 10Volt voltage source with 5Q internal resistance is connected across 5Q load resistance then

maximum power transferred to load is
A 3Watts B. 4 watts
C. 5 Watts D. 6 Watts

5Q Boeolcl 2ot YRl 10V oll 2% U % 5Q AlS 2t U AB\SscllHl wd

Al ASHL ¥l AGRAHH ULdR 2lod$R UA?

AW 3 dled o, ¥ dad

5. U dled s. & dlad

Load current in thevenin’s equivalent circuit is given by

A.  Vth/(Rth+RL) B.  (Vth*Vth)/Rth

C. Vth/Rth D. None of these
dAo{lont scllactoe UslaUl AS 502 9 Sl B?

. Vth/(Rth+RL) o (Vth*Vth)/Rth

s,  Vih/Rth s, wHiel 8y uel «dl
Load current in Norton’s equivalent circuit is given by

A. (Isc*Req)/Reg-RL B. (Isc*Reqg)/Reg+RL
C. Isc/(Req+RL) D. None of these
dlelad 8sclldcoe USl2Hl AS $R02 9 BlA B?

. (Isc*Req)/Reg-RL o (Isc*Reqg)/Reg+RL
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30.

30.

31.

34.

32.

3R.

33.

33.

34.

3%.

35.

34,

36.

5.  Isc/(Req+RL) s, Ul a8 ual «dl
Dual of Open circuit is

A. Open circuit B.  Short circuit voltage

C. Short circuit D. None of these

U Uot Usleo] sYUA g B?

AU, WUl usle o e usle dew

5. e usle s, wiedl 818 uwal «tel

“The ratio of maximum energy stored per cycle to the energy dissipated per cycle” is
called

A. Resonance B.  Anti-resonance

C. conductance D. Quality factor

“QlAHH Aol RS UR UBsAH Wl Aot SIR{UZS UR WBsEoA JJBNTR” & 9 sdcll2A?
., Aol o, Wdl-Blelet

5. 505520 5. sAdldl §se?

“The impedance offered by a complex network consisting of reactive component is
purely resistive”. The phenomenon is called

A Resonance B.  Anti-resonance

C. conductance D. Quality factor
AAsElad sudlaloe URladl S1AsU Aedsell srdlsext IRl RofEla dlat B- L Yellal
9 séauau?

A, lote o, WAodl-Nolo

5. SoS5eod s. sl ¥se?

The quality factor of capacitor is

A Qc=wC/R B.  None of these

C. Qc=1/oCR D. Qc=oCR

$U{leell sl 3522 sl ©7?

w, Qe=oCR o, il Sy ual (8l
5. Qc=1/wCR s, Qc=wCR

In series R-L-C circuit if R=1ohm ,L=1H and C=1F then fr=

A. (1/2n)Hz B. (2n)Hz

C. (2/m)Hz D. (I/mHz

A3 R-L-C usleui %l R=1ohm ,L=1H ¥ C=1F &lal dl fr=

AU, (12m)68% W (2m) 823

5. (2/m) &8 s. (l/m) 82

For perfectly coupled circuit

A.  M=1/SQRT(L1L2) B. M=SQRT(L1L2)

C. M=L1L2 D. Non of the above
uR¥sedl sues usle we

AU, M=1/aHO(L1L2) W M=cdlHA(L1L2)

5. M=LIL2 s. il Sls ual 8l
Selectivity=

A. fr/IBW B. fr*BW

C. BW/fr D. fr-BW

RAs -
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36.

37.

30.

38.

3¢C.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

43.

L. frIBW ol fr*BW

s BW/fr S. fr-BW

Mutual inductance is a property associated with

A. One caoil B.  None of these

C. Resistor D.  Two or more coil

122U A Boss2or WUSL Sloll A 1A B?

w, WS 5B ol Il 818 ual o8l

5. ke S. QYA dUR SBc

An ideal transformer should have

A. Zero power dissipation in both B.  Extremely large self inductance of each winding
windings

C. Co-efficient of coupling =1 D. Allof these

WHBSAH 2SR Sla sdau?

AU, Glol eSOl WaR . ERS UBSIOHL Acs Boss2or Vol & Hl2l slA
SlalRatet Al alat

5. slRAslellace s sucllot=1 s, vl s o
A series R-L-C circuit consists of R= 15Q,L=3H and C=15uF then resonant frequency is

A. 71.71Hz B. 17.71Hz

C. 71.17Hz D. 17.17Hz

{2 R-L-C usleul %l R=15Q,L=3H Wl C=15pF &l cl Alelez glsclar{l 9 slau?
AU, 7171 88 W, 17.71 68

5. 7117 8% s. 1717 88

Transformer works on

A. Kirchoff’s law B. Faraday’s law

C. Snel’s law D. None of above

2let SR Aol UR sIH 52 B?

wu. SlRAlgA [(Qan ol ¥ [[Aan

§. @A A s. AU 88 wal 8l

For Doubly tuned air—core transformer

A. It is used in Radio receiver B.  Has both sides of transformers are tuned
C. All of these D. Itis used to increase Bandwidth

sucl 2gos AR-SIR 2l R M2
. A RS MRl auRla B, ol ool ollagell 2lASHR 2Yos Sl B

5. el olul o s. A Aoscllsa auRal Gu(l B.

A resistance of 10Q,an inductor and a capacitor having capacitive reactance of 60€ at resonance are
connected in series then value of inductive reactance is

A. 10Q B. 50Q

C. 60 Q D. 6.0Q

10Q AReR, 805522 A 60Q Ul IRAseot URlaldl FA2Ra 27\ oteA N B3HI
B3l Slad R Bosselal IMseo 9 dlau?
., 10Q BEH ol. 50Q ¥eH

5. 60Q AeH S, 6.0Q vleH
Attenuator is used in
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¥3.

44,

¥Y¥.

45.

¥Uu.

46.

¥S.

47.

¥O.

48.

¥C.

49.

A. Testing laboratories B.

C. All of these D.
AeoyA2R AML dAURA 8?

u. ool AollRe1 o,
5. wil ol s.
Relationship between Neper and Decibel is
A. Attenuation in B.

db=8.686*attenuation in Neper
C. Attenuation in D.

db=0.1152*attenuation in Neper
AR U SAred dRell Aolu sl B?

AU, WAYAast(Slollui)=8.686* .

WSoRfl2lot (AU
5. WeyAAsi(Slollui)=0.1152* s,
WA et (AQ2ARHI)
Attenuator is purely
A. Inductive network B.
C. Resistive network D.
Aol W Rl 3l aeas 872
AU, Bossdlad A2 W,
5. RNEla Aead s.
After attenuation power level of output signal
A. Remains same B.
C. Increases D.

Volume control of radio receiver
Volume control of TV receiver

sl AlaRetl deH sAM
Alell AAcRall AU S AU

Attenuation in Neper =8.686*attenuation in db

None of these

Ao A 2ot (AU )=8.686*
AoyA ot (Slolui)
UM 88 uel oél

None of these
Capacitive network

il 518 uwl o8l
50Ul Aea

decreases
None of these

AN el Ul wiBeye Rmice] UlaR A 9 a?

U
wHl Sy ul oél

For symmetrical lattice attenuator has 6 db loss and load impedance of 100 Q then value of R1 is

RAEsA Aelsy AeYA2 M2 Al AU 6 db sl wal Als 81lse 100Q &lal ALR1 «ll

U, U W@ o
5. al S.
A, 333Q B.
C. 30 D.
Bt 9 awa?

. 333 BleH o,
5. 3 AleH S.

In symmetrical lattice attenuator with characteristic impedance Ro and attenuation N the resistance of

series arm is given by
A R1={Ro(N-1)}/(N+1) B.
C.  R1={Ro(N+1)}/(N-1) D.

RALsA Aalsy alsu A2eyAeR Boll 3rse33ls 81Ulsert Ro U W2eM2et N 8lat dl

AR08 el 20flRect 9 6312
w. RI={RO(N-1)}/(N+1) oL

5. RI={Ro(N+D}(N-1) .

Amplitude equalizer are used in

3.33Q
33.3Q

3.33 WleH
33.3 WleH

R1={Ro(N)}/(N+1)
R1={Ro(N-1)}/(N)

R1={Ro(N)}/(N+1)
R1={Ro(N-1)}/(N)
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50.

vo.

51.

uq.

52.

UR.

53.

u3.

54.

uy.

55.

A. Speech reproduction B. All of these

C. telephony D.  Transmission lines
Anleys BsASR sUl dURU B?

(. A Adssaatui ol il s o

5. elAslll s, 2ledalet cleet

Phase equalizers are used

A. To avoid phase distortion B. In TV signal transmission lines
C. All of above D. In Facsimile systems

$82 BSAALBRBR Sl AURA B?

AU, 582 SlRAet g sl W TV Roetcd gletalel clgeti
5. wil ol s, Blusd Rrenud
Following is not a amplitude equalizer

A Series type two terminal B. Lattice type four terminal
C. Parallel type two terminal D.  shunt type two terminal

5o Anclleys ssaclsnR dl?

wu. ARy ey g elact o, Qe ety 512 eldd
5. WRAd asu 2 eHldd s. e s g eHlelcd
Which is phase equalizer?

A. Parallel type B.  Lattice type

C. Series type D.  Shunt type

5 560 SsAABRBR B?

. ARAA asuU o,  Qalsd alsu

5. [R3lo ey S, 2lee 2lBsU

In symmetrical-x type attenuator with characteristic impedance Ro and attenuation N the resistance of

shunt arm is given by
A R2={Ro(N-1)}/(N+1) B. R2={Ro(N)}/(N+1)
C. R2={Ro(N+1)}/(N-1) D. R2={Ro(N-1)}/(N)

RAZsct- malsu A2oyMe Boll 35230Els 81Ulsod Ro ol A2efA2et N &lal Al o2

Ul 0020 9 &2
w R2={Ro(N-1)}/(N+1) o R2={Ro(N)}/(N+1)

5 R2={Ro(N+1)}/(N-1) s R2={Ro(N-1)}(N)

In symmetrical-T type attenuator with characteristic impedance Ro and attenuation N the resistance
of shunt arm is given by

A R2={2NRo}/{(N+1)(N-1)} B. R2={NRo}/{(N+1)(N-1)}

C. R2={2NRo}/{(N+1)(N+1)} D. R2={2N}{(N+1)(N-1)}

RALsA- T alsu W2ofleR Boll 35230Els 81Ulsed Ro Ul W2afA2et N SlA Al 2ot

Ul 0020 9 &2
w. R2={2NRo}{(N+1)(N-1)} o R2={NRo}{(N+1)(N-1)}

s R2={2NRO}{(N+1)(N+1)} s R2={2NM{(N+1)(N-1)}

In symmetrical-n type attenuator with characteristic impedance Ro and attenuation N the resistance of

series arm is given by
A. R1={(N-1)(N+1)Ro}/{N} B. RI={(N-1)(N+1)Ro}/{2N}
C. R1={(N-1)(N-1)Ro}/{2N} D. RI={(N-1)(N+1)}/{2N}
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wu.

56.

us.

57.

9.

58.

uc.

59.

ue.

60.

SO.

RALsct- n 2lU AeyA2R Boll 352313s §1dlsed Ro ol A2eyAet N 8la Al R

Al 20fReart 9 &2
o RI={(N-D)(N+1)Ro}{N}

g RI={(N-1)(N-1)Ro}/{2N}

For symmetrical-T attenuator has 40 db loss and load impedance of 300 Q then value of R2 is
B.
D.

RAZSA-T W2oy:2 HI2 %l AU 40 db 8l Al Als 81lse 300 Q &l Al R2a(l (Sud

A 3Q

C. 5Q

9 w?

. 3 BeH
5. 5 WeH

It passes certain band of frequencies.
A Band stop filter
C. Low pass filter

AL AssU AosSoll glsaloll W UL
W, Aos R\ (seeR

5. A W ($eeR
Drawback of constant-k filter is

A. Attenuation is not sharp in
attenuation band
C. Mismatch occurs at different

frequencies when terminated in
fixed resistive load

Slotée-k (¥ceell ASLAEL sUl BD?

U, AoYAUol AoSHL
AeoyAet W oll slA

5. AR glses WHla AlsHl
eHlale 53N @R elyel
slsclo{lA HluRu at,

It stops certain band of frequencies.
A Band stop filter
C. Band elimination filter

Axl AssU AosSoll glsalor(l W ot Al

., QoS R (3ee?
5. Aos A H{lAe (§ce2

For an ideal filter

A. All of these

C. Transition region between stop
band and pass band would be very
small

wsslad (e e
al MY ol

.

S.

B.

D.

.

R1={(N-1)(N+1)Ro}{2N}
R1={(N-1)(N+1)}/{2N}

4Q
6 Q

4 AleH
6 oK

All pass filter
Band pass filter

wlld W (3eer
Aos U (3ceR

Characteristic impedance is not constant

All of above

$se3ldls srdlsed AUAN oll flA

HA el o

All of above
Band reject filter

BHY ol
Aos IBse (SceR

infinite attenuation in stop band
Zero attenuation in pass band

LU QoS HL AeafAM2lol Aoid &l
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61.

Sq.

62.

SR.

63.

S3.

64.

S¥.

65.

SY.

66.

5. WU QoS el U™ AoS S, U GloSHL Ayt Yol 8l
sl 2ioflatet (Qewot wol o

allall Sl

For m-derived filter

A Sharper cut off characteristics B.  Zo will be more uniform within passband
with steeper rise at fc

C. BothA & B D. None of these

m-SlRLees (3eeR MR

. fo W WU ABRS AU wWUR ol WA AoSHI Zo AR YRS sl
seally 3rse3ldls

. AWAB oia s, wiedl sl el o8l

Frequencies between 100 Hz to 2000 Hz should pass. All other frequencies greater than 2000Hz should

stop. Which filter should use.
A. Band stop filter B.  High pass filter
C. Low pass filter D. Band pass filter

100 682 12000 88 glsclorll WA ARLASlo(l wtll glscarll 2000 Hzell HE WA ol Ul 3l
HER 5 (3c2R arurel?

W, Aos WU (seeR ol oty W (seeR

5. Al W (Beer S, QoS WA (3ee?

For constant k type high pass filter

A.  fe=1/(4n/sqrt(LC)) B. fe=1/(4n+sqrt(LC))

C. fc=1/(4n-sqrt(LC)) D. fc=1/(4n*sqrt(LC))
Slolrée-k 28U slsw (§ee2 He

W, fe=1/(4m/AHAO(LC)) W fe=1/(4nt+HA(LC))
5. fe=1/(4n-AH{N(LC)) S, fe=1/(4m*AHO(LC))
A T or n network is called constant-K type if

A.  Z1Z2#K*K B. Z1Z2=K*K

C.  ZUZ2#K*K D. Z1/72=K*K

T wUdl 1 A2cdal slelree-k 28U sdala

w,  Z1Z2#K*K o Z1Z2=K*K

s ZUZ2#K*K g ZlZ2=K*K

For m-derived n-section low pass filter if cut off frequency is 1.5KHz and infinite attenuation
frequency is 1.8KHz then value of m is

A 0 B. 0.553

C. 1.553 D. None of these

m-SlRA8cs n-AsAet Al WAL (322 HI2 % 52 s glscloll 1.5KHz AR Beislesolle
ALoyA 2ol glsclorll 1.8KHz Slal Al m oll Bt 2l 212

. 0 ol 0.553

5, 1593 s. el Sls ual
In m-derived filter value of m is

A. m>1 A. m<0

C. O<m<1 C. 0>m>1

m-SlRLeses (Seeul moll (SHA
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SS.

67.

S9.

68.

SC.

69.

Sc.

70.

90.

w, M1 o, M<0
5. O<m<1 s 0>m>1

Frequencies between 2000 Hz to 2500 Hz should stop. All other frequencies should pass. Which filter
should use.

A. Band stop filter B.  High pass filter
C. Low pass filter D. Band pass filter
2000 Hz to 2500 Hz glsclod{l UUR ol a2 e ol ol glsaarll UdR s A HR2ef (3eeR
W QoS R (eer ol &8 W (3eer
5. Al W (3eeR S, Qs W (3R

Frequencies between 2000 Hz to 2500 Hz should pass. All other frequencies should stop. Which filter
should use.

A. Band stop filter B.  High pass filter
C. Low pass filter D. Band pass filter
2000 Hz to 2500 Hz glsclodll UAR 2l Al ol oltll glsclorll UAR ol & A HRe] (3R
AW, Aos R (3eer o 8ly W (deeR
5. Al W (3eeR S, Olos W (3eeR

Frequencies between 100 Hz to 2000 Hz should stop. All other frequencies greater than 2000Hz should

pass. Which filter should use.

A. Band stop filter B.  High pass filter
C. Low pass filter D. Band pass filter
100 Hz &l 2000 Hz glsclor{l URR ol &l wal ol il glsaoll 2000 Hzell WE UAR &
A URq] (3ceR

AW, Aos R (3eer o 8ly W (deeR
5.l W (3eeR S, Olos W (3ceR
In constant-k type filter value of (k*k) is

A. CIL B. 1/(LC)

C. L/C D. (LC)

SleReoe- k UMl (k*k)ell (Suct

w ClL o U(LC)

kkhkhkhkhhkhkhkkkkkkk

12/12



